
a. There is a mistake in the way this 
     math problem was solved.

Explain the error. _____________________________________________________________
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3,906
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–      89_______
1,600
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3,906
– 703_______

3,203

1,699
– 89_______

1,610

ANSWER

      The person who solved this problem made a mistake when they 

borrowed from the hundreds column. In the tens column, 0 minus 0 equals 0, so you

do not need to borrow or regroup.

      The person who solved this problem should not have borrowed or

regrouped when subtracting in the ones column. 9 minus 9 equals 0. You do not need 

to take anything away from the 9 in the tens column.


